Create new identities...using the ones we already have.

Use the angle sum identity to express sin(2A).
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Use the angle sum identity to express cos(2A).
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Section 5.3: Double Angle Identites

sin2A =2 sin Acos A cos 2A = cos?A - sin’A
A= 2cos’A-1
tan 24 = _2tanA Cos
1 - tan’A o$2A= 1-2sin°A

Example: Let's practice using this identity to find sin90c
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Find the exact value for cos 600°
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Example: Use a double angle formula to find the exact value of tan 2A
if cos A =-3/4 and A is in quadrant 3.
a Ain @3

= =32

tan2h = AtanA Cosh=-2
'_'EAD"A Use an ldu\_'(ﬁ‘fb
D
= O Qi A+(3 )=
'éMA=i=ﬂ§

-3

Slqu-t- %ﬁ(

¥ SIN*A = !t—%,
W= QtanA SitA <
tM \"t&r\‘A A ?C

:Q( %7 \ SinA =¢\}E—
N T
26 SinA==¥_

=3 g



Example: Iftang =2/3 and @ is in quadrant 3, then find cos20.

& 3
Co0sRAE =Jcos e - | Ve Jcm@;.?g—z,)’%
2
— -3
AR J-1 Ze<T
‘3)"} / Xz_“{)v__ r‘L
- (%,4) _31 - o r?.
I {E cOse=£=-;('3;z) 3+ )=
. Co\R 2
= & q+‘\~f
B IR o \3=r®

Simplify each of the following by recognizing the form of an identity.

cos 2A = Ccos?A - sin’A

= 2cos’A-1
2sin100cos10e° = 1.2sin%A
QS/nACOSA- = S”) :Z(lo") sin 2A =2 sin A cos A
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0032@- sin2@ = coS D\(’g\ = CO&’%‘ @

COs"A ~ I A = COSAA
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